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General Instructions:

(1) The question paper con pross 1 the
sochions
(1) All questions are compulson
(1) There s no chowee inan
(1v) All questions of Section- A Secton-Boand s ¢
(v) Question numbers 1 to 3 Sectron- \

answered in one word o1 11 one sentence
(vi)  Question numbers 4 to & i Sechion-A 2
answered inabout 30 words ca”
Question numbers 7 to 18 ir Secnon-A o
answered in about 50 words cacr

¢ two marks

(vii) three marks guestiors

THE T VETRE S TYTETEC

(viu)  Question numbers 19 10 2 Section-A ¢ five marks guestomns
answered in about 70 words 2"
(1n) Question numbers 25 to 33 in Section-B are mulupie chiie quesbor
Fach quesbon 1= 2 ome mark gques~ 1 Yiw are to

pm«'tn'.\l skills

oy 4 l 0' 14
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apprepnate response out of the tour }\’(\\']dﬁi to v ou

Y Question numbers M to 36 1n sechion B are two marks guest
shills These are to be answered in about 30 words each

(i) Queston mumber 37 trom section € 1s based on Open Toxt themes and s« 10 marks

-

ns hascd on pract o

M- 7 SECTION-A

i R s 2 3k v le - aE S ILEEUE L]

Detine the term Isobar waith one example

2 o3 T FTE 3 NEA ¥ w2

What 1s the abilinv to resist a disease called ?

3 hﬁﬂwﬁmﬁ%ﬂ:ﬁwrm«runat'::"'T‘r"-—r-'"*.- TF X

\Mention anv twoO tactors of prgk /- sporsib iy fer lermats $ sl trem ks
4 m I 1 rafrE =:r-:-r‘u'n:f'u*a).\--: TR L TLI

() T F FR frfraa 8 7TIF TTTE 4T P

"' » ' . i
(n) 78 gy fFn fearwa n shyen a0 o a0 8 }O

We start las<atu atton oo ;-i ants om thw Pasas

1 Which dnasson lacks a well Juthe re nteataad s

(111 W here are such plants predomin inthy tound ? / 7

5 & s # 7F 7% 3zeem fafau
(a) 5FT TFEAR ¥ FTO fFE A 8 famm et s

‘{-\.Fw‘armhﬁaqﬁmfmﬁ?ﬁi

Give an examp'e of each ot the tollowing

() a body having potential energy due to change of shape
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(b) a body having potential energy due toits posiion

sz A #) ufrafea w1ian qa o gaem fatav

Define longitudinal waves and wnte two examples.

7 wmaﬁvﬁmﬂﬁml

()  EEEH () "W
(i)  FTER ISR (W) A (R TEmE A ¥

Define the term atomicity State the atomicity of

(i) Phosphorous (i) Sulphur

(i)  Carbon dioxide (iv)  Water

v

(a) SFACO, ¥

8 aftFA3 F73 70

(b) 120 g FfFwrms AW 120 g

Verity by calculating that }
e 4L \ES

(a) 5 moles of €O has higher mass than i
(M) l:”)"l'lulhlllll!.‘llul 12N g, e st sl -O‘ ‘
9 A w1 AR eE P g e A S/

(a) W"I?‘W““’l‘"‘f"”“’
(b) o garaEm F#R7
(c) Y] TEATAT |

An atom has electronic configuration 2,87

{a) What 1s the atomic number of the atom ?
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(b) what is its valency ?

(c) identify the atom

i

10 (93 & q#Fm va @i i o, AfEn fe o33 gz e @ Ao A e wm 47
FVA T ITF F AWE TE 97 AfFS IWE 90§23 gu OfER F SFFEw @ am A 3T r3
SATTF 3 TH F1 @RA 3 UTHA 70 /E EWe &1 I9qm F02 ¥ e 7

(1)

Ranjan was suffering trom severe whl a still he deaided to appear in the unit test

Sobhan seated next to Ranjan was not . t !\ in seated behind got
suttered a ot The teacher advised Ranjan téu n handherchiet dunn

mntected  and

» couphuny and
sneezing,

Answer the following questions /

(1) Why did Sobhan not et mtected
(11) What tvpe of disease s coldand cougeh

(1u1) What values are shown by the teac b

Las IR

11 TFTE A STENFE MR 4= p T i 4T

communicable and non-communicable disease s o

12 (a) T2 qwn z@ F1 wfearn fafan
“‘)lmamlqﬁﬂmmmﬁ%’?

(a) Detine thrust and pressure
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(b) What do vou understand by 1 Pascal and 1 Newton ?

13 afiafr 3770

b fFm ™ ¥3

) 7R FF = ¥ 5| TEw fefan
Detine

(a) power
(b) work dc¢

(€) kanetic mg\‘g@l of each

14 {a) ?Uﬂ'."ﬂ?ﬁ!"‘m é’"mpl (hertz) ®1
by =% Traow fafam

(c) 3™ EF o W i

A s sfhream fawew & afam gn Al P
(a) Name the physical quantity whose unit isgfer!

(b) Defin

(¢) Name the physical quality which is desonibed
maximum disturbance in the medium on cither side

15 UE PTUN 9 OFAE W ST (Z990) W) T oemny % bBeroaned m tEm
7 g wmas w1 FETYTA smfa 4 2 « 1o Hz afs satq 41 - S A 5TE
3wz 3 oA Tt st
A laboratory uses an ultrsonic-scanner to trace tumour in Ussue The operaung
frequency of the scanner 1s 4.2 « 10° Hz. Calculate the wavelength of sound m the
tissue if the speed of the sound 1s 1700 m/sec.

16 fech == 31 ¥ © W@ T3 g AW FA T 556 2| @ F ATEF w9 FA Foram, @ 7
mﬁwfxwummmwmﬂawam;
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¥ . —— == " . !.‘! p
A salid weighs 75 g in air and 33 6 g in water Find the relabve density ot the s hd Also state

it the object will tloat or sink when immersed in water

17 A fFR gFET FA £

How are clouds tormed ?

A FF W 2 AT ¥ FIF g ammTa 0 s sty e i

18 (a)
(b) A TER F U TTHF FA IOA FTAR? A7 FH W AR F TTIONA
(a) What are the tbvo wavs bv which carbon diovide 18 hixed in our atmospher
(b) Which gas 1s produced when glucose molecule breaks down releasing enerin

19 frafataa

(a)

S
’*’(

Pefine the following terme

(a) Atom by Moles ule } dro s numinr
() Valenaoy (v) Ve Lar muasa }

20 .Wmmthr‘mw UMZE & v ) a4 o 'nu 7% 8
“' T T ¥ f @) wm 2] e
’ E '
I ’
-'I‘“—ﬂ—"“_"n__h—_-f— — R
1
|
! B —_——
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Tm' I5
l . _ e o
|| FHMZ = \

| Represent the teatures ot a tish, a trog, a snake. a sparrow and a batin a tabular torm o

i n " Lav tggs/Give birth to ] Cold blooded/Warm

voung ones | blooded
. B | - -
bish ‘
. 7 - | N
CFrog |
§ N
| Snake '
| Sparrow N
[l |
| | Bat
21 TETE A SHFTIF W GRMATF T 0% TN 04 g0 TG a4n 5= e
State four differences betw e gfigfius and nonanta tioas discases gruang one e
each '

1 F4 Zm ga4Am f2fen vafa g4 o % T

(a] A4 fro mu s | F X AWy A4 w1fan
(b) 9fa@ wfre + Tm fafam)
(c) %8 ofeaz & faam saaa #fau

For heanng the loudest ticking sound by the ear.

page 70114
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(a) Find the angles x and y in the figure below
(b} Name the phenomenon observed here

() State the laws of the phenomenon

23 afz f= ’! =T 31 Iy fFE A A 3 fr3 o TF ﬂ-(,"ﬁl F fao fagn ¥ fam # AT S

() 40W F 71 T 6 A2 F AT
(b) 30 W F1 7 Zga Az 8 912 F fam
() 120W F1 TF ZI 91 o T2 F AT

fasgan #:]1 = T 250 ¥ gfz @ m 2

Calculate the glectriaty bill amount tor a month ot 30 davs, 1t the tollow iy deyices are used
as Spv(if d &

(a) 2 bulbs ot

(b) 2 tubelights of 5
(c) ATV of 120 W tor 6 houdrs,
Given the rate ot clictrioit s 2 ,.}0

24 7T fremrerm a e oA B S wt ae o u}: WP R TR Tt e 4 T

What s meant by Natreson freaten " Fapban w o ©

mitrogen tvation does not ke place /

MW/ SECTION - B

UF WA A fER WEAE 72 W0 ¥ FM A A w7 R ity sata o mrab e ot

25
TN F AT EME
(a) iy (b) 20 (<) 140 wh 0
A sound wave strikes the retlecting surtace at an angie of 70 The angle betwern the inadent
Page 8 of 14
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sound wave and reflected sound wave is :

(@) 40 (b) 20 ()  140° (d 70
v

26 demxb6cmx 0. lem famedl a@ ww W1 & fafee § a9 w9 80 @ o owEE )
19600kg/ m? fafere &) 97 ¥ fafee g0 99 W &1 aen sfurmm z@m ¢

(@) 95450 Pa (b) 11760 Pa
9/’ 196 Pa (d) 7580 Pa F="

A gold biscuit of dimensions 4cm x 6cm x 0. 1 cm is placed on a table The density of gold s
19600kg/m?. The maximum pressure exerted by gold biscuit on the table 1s

1 (N
(@)  95450Pa (b) 11760 Pa q}d st ¥ =
¢ AN |
() 19%Pa (d) 7580 Pa " I B e
vt‘f Y g
= L) J C #e ) —

— o r-—‘

27 fies 9 =z ¢ fﬂ"mmmmmvﬁnmmhwnWIvm’1
W dl, IEF 713 qa WA ¥ N B OHY 40 2%vz oW FEl S %
R @ wEm F A Cau e
- ok
(a) 70 ®FIZ (b) 25 AF"Z M“”é' 5 HEvE '
While measunng time taken by pulse 1o 1 U thg slinky. Caun torgot to set the ime to

zero in the stop watch in which its hand was at AP enad of hus expenment the needle
stops at 40 sec. The time taken by pulse to trave bin thedling e

(@) 70 sec. (b) 25 sec () 115 s () 45
A\

28 #a& fag w1 aw v ¥ famd spaga fem o @ 1
(a)  HE F (b) taEw
()  amEeE @ (d)  forcend &

Mycology is the branch of science which deals with the study ot -

(a) Fungi (b) Algae (¢) Bryophytes (d)  Gvmnosperms
\
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29 TR W ¥ T w w0 w3 ¥ fan us o 3 104 a4f@n wnmE F5 5ml 10% Sfram 1
V2 & Sml fF=a= § o 9 3 3 3 e w@ w0

() TF 9N smew A o
(b)) fFEm T meeTE
(c)  ¥93 =% 7= 37

(d) & e fgEeT 75 ™

To venfy the law of conservation of mass, a student added 5ml 10% Barium Chloride into
SmL 10% sodium sulphate solution. Which of the tollowing is the correct observation ?

(a) Yellow preapitate is formed.
(b) The solution tum to pink colour

(c) Whute preciprtate s formed.

(d) A&dubm 1s formed.

30 frafafga o =
FA F fq7 3= =7 B4

(a) AT FwFET /( ?'Qlﬂ“ﬂ Wvta @

() frzfmm a=fv'rm

Which of the following reaction s not suitabide 40 ve the law of consenabion of mass i a
chemucal reaction ?

fom meafaw sfvirm & fan zemm wrwm ¥ om0 s o

S

myeta W

(a) Precipitabon reaction (b) Dasplac ' 7»n
(c)/ - Redox reaction (d) Nudclear reac tion 4{
\
) oy fem vl & w33 oA 2w ¢t 1

(a) TEAHTH (b) FEFITH () Famredd (9) e
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The group to which grasses belong is :

(a) Monacotyledonous (b) Dicotyledonous (¢) Gymnospems (d) Peridophytes

32 fra § | FR wHaraTa i 17 22

(@) ®i (b) TS
(c) TA d) @=
Which of the following is not a monocot plant ?

(a) Mustard (b) Chuna rose

‘9/ Pea (d) Onion

33 ffeia T F ¥a3 9F ¥ o=@ ¥ fqm & 3 #¥m o owm owwm omw ©

@ (g s ey

1
i

(b) o9 E aom e b
(c) mm%tmnw'man«h
(d) = vAfwsa e * ahg W vt o B

Which of the following statement@s i in respsa t of bite cvile of \nopheles mosquito ?
(a) The larvae feed on human blos

(b) Pupae teed on sugar meals O
()

Male anopheles mosquito teed on human blodsd

(d)  Female anopheles mosquito teed on human Nm\‘/4<

34 wfmwaﬁuaﬁmﬁmqmmmﬂeﬁmmhmwﬁﬁmwmm 2
fafva I A Wi ol A B, Ao C 3 {0 e @ g A 1
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(©

(A)
mmmmmﬁmm%w%mmmmn

A given solid is weighed in air using a spring Q is then weighed by immersing 1t tullv
in each of the three vessels A, B, and C containing te@xown

| 5/
\ : / \
N\ /
| \
\ F y

. /

sl e ¥ 4 . b /
crepeccaaaanns - / ] \ Fi
g . [ ' \ t f
- Y X oy
- -
\

e — R | L i,

\(,A)/ (B (C)

In which vessel the weight of the solid will be munimum  Give suitable reason tor vour

ANSWer
35 afe SON WR F #18 a [ON Wi & oaa 4 Povarfoy aot B g g am R and wen seenaa 2
A i Ffau ) 7wg w w@ §ovm feen om o N, . \(4;1

[t an object weighing 50N displaces water weighing 10N, then hind the buoyant force of water
on the object. What will be the weight of object in water ? L — l
Vdg Ce (10 -;,[&c-‘(_‘-

36 T frm wn Wa gEafTA v A ad B 1 ArEA FifA by
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Identify the organism given below and label the parts A and B

WTT- | /Section - C

(* Please t open text of the given theme is supplied with this question paper)

37 Theme-Il (Fl\\'IIOQ I)e\clnpmcnl - L essons trom the Hills) (3+5)

(a) Thfeafas F=trE A ¥ e wht ¥ rm WA wie gfrraasn § AT
JEATA f¥a ==

faem F farg W';_'ﬂ wr e Biag™ W2 0 ten o st m B g ¥ TE
WWWW: A faa R T tem T e TR ¥ BTN @ TR OTE A

frarsand fa fem seraber s w 0ga

A U o oAt e %

(b) FHA IHTETE W ATA LT N S
eed wl i et auy

FUM g IR gEE AL & S ARV BT

{a) Fcologists have alwavs been rasing their vouwe aganst the hupe expansion ol
hvdropower projects to meet the growing demands of the expanding state [dentihiy trom
the data given in the text that how many hvdel power projects have been bunlt and how

much forests land has been cleared. Why do vou think these hvdel power projects have

become a threat to the ecology of the state. without much benefit

(b) We have seenn UttaraKhand a great tragedv. This was due to a min of natural
and man-made reasons. Justify this statement with all the reasons behind this

tragedy
v130f 14
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